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SECOND M]DTERM TEST 2023

X -STD k Mathematics

— YouTube/ Akwa AcademyManmumuarks 50

' T:me 1. 30 Hrs.

PART I (Marks - 7)

Note: Answer ALL questions: o g = =7
-1
L IfA (1 = 3) and B_ 2 theu, A+B=
‘ : : S
e 0 Lk
Ao - ® B0 (O (19 (D) Not define
» " - ' . O e == = = =Y = .
. 2. . Transpose.of a column matrix is . - , _
(A) unit matrix : (B) dlagonal mafrix  (C). column matnx (D) TOW matrix

S 9. If =17 07

3. How many tangents can-be drawn to the cxrcle from an exterior pomt‘?
(A)one = B two | - (C)infinite (D) zero_
4. A toweris 60 m hetght Its shadow is x meters shorter when the sun’s altitude is 45° than when it
Jhas been 30°, then x is equal to .
-'(A) 4192m ('B)4392m - )43 m (D)456m
5. Ifthe ratio of the height of a tower and the ]ength of its'shadow is f 1, then the anc,le of elevation
of the sun has measure ‘ '
(A) 45° ~ (B) 30° (©) 90° ‘ D) 60° ,
6.  The base area and height of the hemisphere and the cone are equal. Then the ratio of its curved
- surface area is .

' “>"f..(A) 1:2 2] (©) I'J_ _' @) 2:1

o The total surface area of a hemi-sphere is how much tmm the square of i lts radius.

Wz (B)4;r‘ (C)3,-: (D)27r
~ PART - IT'(Marks - 10) ,
Note: Ans.wér'any FIVE questions. Question Number 14 is compulsory: - 5x2=10
8. - If a matrix has 30 elements, what are the possible orders it can have?
I 5 ) e ‘
then, find (47) . A

— b | h

8 '_ 3
m Fmd the anglc of elevation of the top of: the tower_ ﬁ-om a pomt on the ground, which is 30m away
~ from the foot of a tower of helght 10\/_ Imd = " 10 - Maths Page -1
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11. A kite is flying at a height of 75 m above the ground. The string attached to the Kite is remporarily
tied to a point on the ground. The mclmatlon of the string with the ground is 60°. Find the length of
the string, assummg that there 18 no slack in the string. ;

12, A man goes 18 m due east and then 24 m due north. Fmd the distance of his current posmon fromr
the starting pomt"

13.  The radius of a spherical balloon increases from 12 ¢m to 16 cm as air being pumped into it. Find
the ratio of the surface area of the balloons in the two cases.

14. A garden roller whose length is3m long and whose drameter is 2. 8 m is rolled to level a garden.
How much area will it cover in 8 revolutlons'7

PART - ITI (Marks - 25) B
Note: Answer any FIVE qhestion's. Question Number. 21 is'compulsory: - 5x5=25,
3 N7 _ TR =T
IR e - e rpis
15. 1 A=) " " |and B=|1 2 | then, verify that (4B) =B"4
1 28) SRR
{ 3 1 Y o 2 : ’
16. If A=| i then show that A" -54+71,=0
e S S .
17. Inthe adjacent figure, ABC is a right-angied triangle with right angle at B and

points D, E trisect BC. Prove that 84E> =34C? +54D*

18. From the top of a lighthouse the angle of depressiod of two ships on the opposite sides of it are
observed to be 30° and 60°. If the height of the lighthouse is / meters and the line j joining the sths

passes through the foot of the lighthouse, show that the drstance between the ShlpS is jg m.
19. If the radii -of the c1rcular ends of a fmstum whrch is 45 cm hrgh are 28 cmand 7 cm, find the
~ volume of the frustum.
20/ The' frustum shaped outer portlon of the table lamp has to be pamted
' _mcludmg the top part. Find the total cost of pamhngthe lamp 1f the costof g,

pamtmglsq cmis * 2.

6em
—

21. Sate and prove Pythagoras theorem

{ N PART'-IV (Marks-8)
Note: Answer any one question:- A ™ L © 1x8=8

2 (A) Draw a cu'cle of drameter 10 cm from a pomt P whrch is 10 cm away from its centre. Draw the
two tangents PA and PB to the crrcle and measure their lengths

' (B) Draw the gmph of y= x2 - 5x—‘6 and hence solve x2 ;S.r—l4,'= 0 A i o
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